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int main()

) :f (i==firsth { inta[]={0,1} std::cout << "src: "
’ o ,' b= v_eng(). WA K std::reverse(figtd:@dtor<int> v; for (const auto &5 src)
if ("> x 8& "i <) break; return false: std:for each(std::par, std: :begi(a), std -end(a), [&1(inti) {
int main() ) } } V. push back(|*2+1) // Error; a“rdtccout <<y <
{

/I remove duplicate elements (normal use

{
std:vectorsint> v{1, g ag eoan%%ﬂé@%éw.dget Sl
(4w

iRtO=) ) returnfa e&])1 F (|nt ) std::bsearch(§tdsjaoubs AFFCIZE, size
35‘6.% (begiK(s v nsfieceimiginge {enyte

std::sort(v.begin(), v.en Petlrh vl
auto last = std:: unlque(\(/{( begin(), v.end(
II'v now holds {1 2

v.erase(last, v.end()):

int main(int arge, char *argv)

bool next_permutannEt rﬁ,ﬂm ARR S|ZE 8; {

for (const auto &s : src)

std::cout << "value " << kely1 << " found at posmon =

for (inti:v) ” . Bidirlti1, i "*1 il COQUE << § <<
std::cout << j<<" "auto| |0Wer_boundI_|< of Vi) (ﬁ A I_<_'/ah ﬁo S . t
Lot ™

std::cout << "\n™ —] |— l
if (*--i < *i1) {

[l remove consecutiys spages = stnng pegm) jils strwgﬁeen;{(

std::stnngs*"wanna.go to  sp
auto end = std::uniqué(s.begin(), s. end() [](charl char r){

0.0
std::cout << std:: s'mng?0 i':eg\nggﬁ(g« \n';

std::vector<int> v{0, 2, 3, 25, 5}, }

std::vector<int> (3, 19, 10 c%}( begin(strings), end(strings), [I( string&intal] = {1, 2} for (const

for_ea

s
auto result = std::find: 'ﬁrst _of(v.begin(), v.end() .ﬁP@@fﬂﬁaPMﬁgt voi \ To1cT add

[SJe R

int key2 = 9: for (const auto &s : dest)

of(arr[0]), comphaiyot](const %@%&éfé%ﬂﬁ@képﬂe

int main()

template <class Forward|

: | Pstd::vector<d
template<class Bidirlts Int main() void quicksort(Forwardlt first, Forwardit I;:BI» Xvalues(10007, 1.0), yvalues(10007, 1.0);
doubl = std:-
{1 2, 3st§ Q/thwfﬁ}d istring> srofiftfirstsartagthreium; oztde F:zfult std::transform_reduce(
; sta:ivector<std::string> desBetaQvOf= *std::next(first, &bt
; Sty
Eﬁgew * Forwardit middle1 = std:: pamq@é‘lggﬁiﬁﬁg 2dip_terator

8RE_tuple(std: bgr (xvalues), std: ‘begin(yvalues))),
Forwardlt middle2 = std:: partifssdetiddiai o -
o1 - arr) << [ﬁnvot](c

Eﬁ}ple(std :end xvalues), std::end(yval
. -Si i@‘t&rﬂ)( TR BRLS § * boost: gef:1£{:)a)ue5)))

)

(
u

int *p2 = (int *) std::bsearch(&key2, arr, ARR_SIZE, sizpftaaifff), compare); } std::cout << result << ',

1<Eiif(02) std:cout << s << ',
std :cout << "value " << kéy2 << " found at posutlon <

return std::isspace(l) && std::isspace(r ' S t << \n
o —c (0] R e [TF [ 4T
II's now holds "wanna XXXXXX", rgm( wate - _ba (src.D

)
h(s r, std::begip(a), std::end(a {&] mt ){
Sl ea{:é d[?é)?memory onwsi@mdac

gx Ioad(std :memory_order_| relaxed) —\—
uf == vt} 1{ d i Tl‘#ﬁbr )fgjx& i<y} std::cout << \n';
oot << o mhg@msgesam@e kit S |
peisei tch at " ) a:u”?)1 std :mutex m;
<< "found a match a re -y »

std: Coi std:distance(v.begin(), result) << "N if«a > *b) lsnttdag)r \; acr}x(st d::par, std::begin(a), std:zend(a). [&](int) {

! e std::lock_guard<std::mutex> guard(m); }
- ++x; // correct
return 0; §

B

I
51}/ Errorfacnes f)sidusoptdex Hidshufe

auto it = std:: pamhon(' F"?mrg% v.end(), [J(int i{returni % 2 == 0;});

std::cout << "\nPamuéned vector:\n

std::copy(std::begin(v), |§gd‘z§‘s§(ﬁ§eng]l%}za]tg;<é?)t> 2t :cout, " "));

cout <A
std ‘ostream_iterator<int>(std::cout, " ")),
std -vector<std::list<int>:iterator> v(l.size());

std: fonfvard list<int> fl =Stel: dotaly.begin@), v, endf) )d,begm()), 92}
sl s Wit g (v.begin(), v.end(), std::mt19937{std::random_device{}()}

et < W' std::cout << "Contents of the list: ";

;1) std: cout << n <<’
u1cksort(std ‘begin(fl), siar(@uter
gtd :cout << "Sorted u5|r@tdumbﬂ<n\n

for(int fttﬂls\t: :cout << 2t§<cout Sap———— Iist shuffled: ™
std::cout <

for(auto i: v) std: ‘cout << *i<<'
std::cout << \n

}
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(

terplitgdiassEidiniardit>
I st 10067l values(10007, 1.0);
f{fistestd ) rating 81562, 3,3,4,5,4,5,6, 7}
o itgrstdreti At E)7
/1 \boost hivérd it bk igi ‘minate
218) it 7 \(yvalues))),
forBaist: 1 return !(pivot < em); });

qetdksontfrstiakadtilgld(std::end(xvalues), std::end(yvalues))),
drt(r{tiete@nlastst:: get<0>(r) * boost::get<1>(r); }

0.0--i < *i1) {

rsti2plastéecutive spaces

intygin@hile {!¢1'wanig)po to  space?”;
{ <<stdsuhigaeé(s;begin(), s.end(), [I(char |, char r){
} iteint AP)SEIAS, &l ==r;
$iol:chot seveDsiginalastor\n ;
J:* fos (i £:l ", where 'X' is indeterminate
'_I std::cqut << std::string(s.begin(), end) << '\n’;
} autb(if=dfidstpéartition(v.begin(), v.end(), [I(inti){returni % 2 == 0});
d::reverse(first, last);

intstuij rfélePartitioned vector:\n - "
begin(v), it, std::ostream_iterator<int>(std::cout, " "));

{ 3td::bsuting=1(10);
i ' _iterator<int>(std::cout, " ));
std::vector<int>{3, 19, 10, 2};
’ td: st

fi={ter 34y @, s&ed), 6, -8, 2, -5, 64, 1, 92};
.end(), t.begin(), t.end());

{ for(intn : fl) std::cout<<n<<';
Stth=sbiiffet\BagiHRin.end(), std::mt19937{std::random_device{}()});
constimoith =<ihtd)ehpnents of v were equal to 3, 19, 10 or 2\n";
Httiaksi¢std Cregin(fh, sftehehis({l));
rt\n
Ee(iiffiafy-800;: damtbred{wkedin(), result) << "\n";
btdetout £< \n';
}} stdecout << "Contents of the list, shuffled: *;
fon(etutmiOy) std::cout << *i <<'*;
} std:cout<<'\n’;
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